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e most suitable ‘one word® for the g1V plation and meditation:

: em

‘?ho leads a simple life devoting himselt to conte shete () Conse
\) \es

ruist () Ascetic (-

t the correct cardinal number for the given:

. ) (4) 1,000,000
100,000 (2) 10,000,000 @ k0.0 kg

which part of the sentence has an error.
'fwas greatly astonished

. when I came to know

that my friend is coming to see me

D. after a gap of about twenty years

C 2 A 3 B i B

se the correct passive voice form of the given sentence.
do you waste time?

Why is time being wasted by you?
Why has time been wasted by you?
Why is time been wasted by you?
Why is time wasted by you?

se the correct antonym of the given word.

(2) Austere (3) Frugal (4) Ardent

(3) Piglet (4) Leveret

imed with pleasure that it was a lovely day,
that what a lovely day it was




P

B Choose 1 oo
He i

: M Vamous (1) Materious 4 enct
~ Fill in the Blank with the COTrect alernst i« .
m " canief s Wi ”“ J

“, iy ‘2' "‘ (4 e ¥ “’ “

Identify the mismutched pair from the v en alternat: .«

(n Parrots - squend 2y Frogs - crr &k

(3) Owls - hoot (4) Horses - wgh

Choose the correct alternative.

He will not come,

(1) 1do not think (7) Moy dwk

(3) 1 thought (4) ) i

of e WENRESEA

Find out the phrase which can correctly substitute the underimed part
I saw him make a wry face
(1)  Show disappointment (2) Feel sck

(3)  Abuse (4) Cry with pam

Fill in the blank with the correct alternative.
___ the patient from taking ceriam medicmes

The doctor
8} banned (2) prescnbed (3) prohibued 4 ,.-uiu
HE, 1
Choose the correct alternative. &
| [ - This tree is older than that.
11 - He is my elder brother.

(1)  Only I is correct _
(3) Only 11 is correct 4) ydll-dll-tmm




alternative.

; uick
(2} as quickly () sed

ank With the proper altermative.
YAl Approaches the number of customers ———————— - ~reased
‘ ) will be increa

(4) will have increased

the correct altemative.
S Will be answered by 3 —_of experts. (4) bunch
(2 band (3) panel :
Fd ot the correct feminine noun of *Fox' 3y e
) Foxen @) She fox (3)  Vixen ( .

_ﬂw‘hg passage and answer the questions selecting the most appropriate altema__.
s 051 o 08%) =
M determined by a person's gense. In short, some people are more predisposed to be fay,
St Someone who was obese in childhood will have more fat cells than an average person. Ong A
th 2 cells may enlarge or shrink but they never disappear. Gense however don’t have to control your %

he Size of your fat cells depends on you on your

cating habits and life-style. There are waystg
em small : eat low-fat fibre-rich toods

such as whole grain breads, Vegetables and fl’liits. Chew‘

ke

What one eats is an important factor in controlling weight because -
(1) Fatis bumnt faster than protemns and carbohydrates.
- Proteins and carbohydrates use up more calories than fats. _ :
(3  Fauy food has very little calorie content. n

(4) Digestion is affected by proteins and carbohydrates,

- Body weight can be controlled best by:

. f(l) : Dning exercises vigorously. every day.
. (3) Mild, daily exercise and a proper diet.
@ Fasting and vigorous exercise.

me ways in which obesity can be controlled are.
- Using the car occasionally.
Use of bicycle as far as possible.

daking | physical efforts.
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055,

056,

057,

054,

059.

060'

Whit cian we conelide nhiout

() Vorercise helps Kepcise from the passape’?

anly in conty
rolling the |
(2) It mukes one more Mmereurlat ng the body welpht,

(%) Wmake .
()  Itls cm:'l ""f P0G Bctive and mentally positive,
COM A0 do exercise which is effective,

::'l’dm :l::l‘:il:llz |wlu.-|iurr One is going 1o be fat or thin,
o A‘.’ e play u ’mrmufmm role,
(3) 'J;mhllgul::?;':iwm “‘”,’ dhood patterns drastically,
(4) Vot cells !i::':::t;ddm.g'“')‘"{ make no Impact on fa} cells,
od during childhood are of crucial importance,

Choose correet whAype question 1o get underlined part,
Water Is needed (o sustain life on the earth,

(1) Whao is needed to sustain life on the earth?

(2)  Which is needed 1o sustain life on the earth?
(3)  Whose is needed to sustain Jife on the earth?
(4)  What is needed to sustain life on the arth?

(;htnmc the proper alternative to fill in the blank,
The shopkeeper does not have the toys.

| was 100King cn

(1) for (2)  about (3) at (4) 1o

Rearrange the jumbled parts which are labelled P, O, R, 5 to produce the correct sentence. Choose

the correct sequence,
The Perbon e
P ; because he is poor
() : work hard and efficiently

R ; cannot
§ : who is poor
(1) SRPQ (2) RPSQ (33 PORS (4) SRQP
Choose the correctly spelt word
(2) Miscellancous (3) Micslleneous (4) Miscellenious

(y M jcsllancous

the proper article to fill in blank,

yseful metal,
(2) an (3) a (4) no article

Choose
Iron i$ ————"

(1) the
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068.

CHIL R

D DEVELOPMENT & PEDAGOGY
Whlc'h ‘of the followin

creativity and imagin

g activities s "
i ities should a teacher carry out to give the students a chance for

A) Prepare for |
B) De\[i)?llc 1‘013,3 during Diwali festival

students BT o
D) 1S 10 play musical instruments

Arrange an exhibit;
xhib
() A, BandC Onlly iion by students.

3 A/B (2) A, Cand D onl
Rty @4 A.B T“ D ’:l‘\y

According t
0 Munn, arr
) arr X | . nenpote . . ' " . .
B8 i angement of various aspects of previous experience in the mind 18 called

e (2) Intelligence (3) Thinking (4) Motivation
tw i .
for ef)gfl:\mcgast 2?3:'82 one after the ptl\er _thcn one tries to find the cause and effect between them,
fi5 106 erosiing G th your pat.h while going to lhf-: exufw.nm‘ion and you fail. Your I'ui'lur'c is linked
(15 Préjudiced ﬂﬁ_f Cl‘ft. This happens due which of the lolk'awi'ng obstacles in thinking?
(3)  Wishful th'm}l'n ing (2) Coincidental judgement

mng (4) Defect in observation

ich of the following statement about retention 18 correct?

1 S eia _

((2) I&ftentlon is not affected when poems are learned one after the other.
3) we can recall quickly if retention occurs in cognition state.

((4)) e can recall quickly if retention oceurs in semi cognition state.

We can recall what is retained in non cognition stat¢ after some trying.

Which of the following statement about forgetting is incorrect?
(1)  Forgetting is an important process.

(2)  In order to improve memory, many things should be forgotien
(3)  Less retention, less forgetting.

(4)  More retention, less forgetting.

Which of the following statement about internal motive 18 incorrect?
(1)  Liking of a subject 1s an internal motive.

(2) Internal motive and interest are closely related.

(3) Motivators arc internal motives.

(4)  Interest is the base of internal motive.

Spearman has given two factors i.e. General and Specific factors in his two factor theory
intelligence. Which of the following statement is correct about it?

(D General factor in every person is large.

(2) Specific factor in every person is large.

3) General factor is supplementary for the development of competencies.

(4) Specific factor ‘s useful in all functions for a person.

Emotional intelligence in terms of being able t0 monitor and regulate one’s Own and oth
feeling and to us€ feelings to guide thought and action. This definition of emotional intellige
was given by which of the following psychologist‘? ‘

(H Alfred Binet (2) David Wef;hler

(3) Peter Salovy (4) Howard Gardener

S B e
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Followi
Ing are p;
L2 2iven i ok (5T
the Correct naly SWIN'S types of i
COrrect pairs? types of mental contlicts and its examples. Which alternative shows

Exam
! < [\lc
1) l‘hct\\ ta . . P4 '
l-\ | SATH o v \ 1
give nare CHSY in the Pocket ¢ , | {Type of Conflict | |
e RIYE DALY 10 friends chet enouph 1o wateh a film, Desire is o] A) | Yes - No - Conflict | I
| i) [h“_\ d“‘-‘\‘“‘l wantt S and also w ant to wateh the {ilm I 1)
| - . O8N s : . : | |
tudy for the examination not want to fail in exam. | B) | Yes - Yes - Conflict | I
{

i) One fee y
kcl.\‘ l]l\c . 2
_ cating thy \ \
> 3 ™ .Lt 1; e ' A ' v N . " r \
Laetause stomach is full wourite food but don't feel like eating it| €) |No - No - € onflict

A 1-ALCBW
S o AT gt DUS ¥ (DR {7

When a st
a student passes wi
JASSOSN N AQQ selna 4 ] ‘ : :
he passed and vith less marks then he says that he had not studied for the exam but still
Thisis. 1 got these marks
s is : marks.
() ldentifi type defense mechanism.
cato Pl ' ; : 5
n (2) Negativism (3) Compensation  (4) Rationalisation

Similar fact

[ . L Qrs are Jderre . : : -

st are transferred between two learning methods, But a more clear transfer of learning

28 }cn lh‘L‘ two factors are generalised. This theory of generalisation was put forth by
of the following psychologists?

1 aulaa .
() Pavioy (2) Bagley (3) Judd (4) Thorndike

s or experience in his present structure of thinking

In infancy period when a child accepts new idea
thinking the sensation and comprehension

and understanding and when according to present way of

3 P 3 Ay e s . .

of an ¢y u}l or stimulant is done or a response 1§ given then . process 0CCurs.
(1) Orientation (2) Assimilation

(3)  Conservation (4) Accommodation

Which of the following aspect is correct about emotional development of children of later childhooc

stage?

(1) They learn by understanding the meaning.

(2)  The attention span of these students is unlimited.
(3)  They are aware of morality & immorality.

(4)  They rarely forget what they have learned.

necorrect about slow learners?

Which of the following aspect is i
| (average) intelligence.

(1)  These children have norma
(2)  These are moron children.
(3)  These children lag behind in studies as compare
4 Diagnostic tests are necessary for these children.

d to normal children.

is the dynamic organisation within the individual of those psychophysical syst

“personality i - | ‘ '
that determine his unique adjustment L0 his environment”. Which of the following psycholog
put forth this definition of personality?
(1)  Norman L. Munn (2) G. W. Allport

(4) ). B. Watson

3 G A. Kimble
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! < [\lc
1) l‘hct\\ ta . . P4 '
I8 1 AR a v 1 1
give nar \_\um‘_\_ in the Pocket o . l Type of Conflict | |
4 B8 PANY 10 friends chet enough to wateh a film, Desire is to] A) | Yes - No - Conflict {)
1) [One doesn™t want t s and also want to wateh the filim f
| - . 0s N " . - | \
tudy for the examination not want to fail in exam. | B) | Yes - Yes - Conflict | I
{

i) | One feels It
eels like eats
_ cating \ \
> 3 ™ .Lt 1; e ' A ' v N . " r \
Laecause stomach s full wourite food but don’t feel like eating it| €) |No - No - Conflict

A 1-ALCBW
S o AT et DES ¥ (DR {7

When a st
a student passes wi
JASSOS N AQQ selna 4 ] ‘ : :
he passed and vith less marks then he says that he had not studied for the exam but still
Thisis. ' got these marks
s is _ narks.
() ldentifi type defense mechanism.
cato Pl ' ; . 5
n (2) Negativism (3) Compensation  (4) Rationalisation

Similar fact

[ . L Ors are Jderre . : : -

st :m transterred between two learning methods, But a more clear transfer of learning

28 }cn lh‘L‘ two factors are generalised. This theory of generalisation was put forth by
of the following psychologists?

1 aulaa .
() Pavioy (2) Bagley (3) Judd (4) Thorndike

s or experience in his present structure of thinking

In infancy period when a child accepts new idea
thinking the sensation and comprehension

and understanding and when according to present way of

3 P 3 Ay e s . .

of an ¢y u}l or stimulant is done or a response 1§ given then . process 0CCurs.
(1) Orientation (2) Assimilation

(3)  Conservation (4) Accommodation

Which of the following aspect is correct about emotional development of children of later childhooc

stage?

(1) They learn by understanding the meaning.

(2)  The attention span of these students is unlimited.
(3)  They are aware of morality & immorality.

(4)  They rarely forget what they have learned.

ct is incorrect about slow learners?

Which of the following aspe
| (average) intelligence.

(1)  These children have norma
(2)  These are moron children.
(3) These children lag behind in studies as compare
4 Diagnostic tests are necessary for these children.

d to normal children.

is the dynamic organisation within the individual of those psychophysical syst

“personality i - | ‘ '
that determine his unique adjustment L0 his environment”. Which of the following psycholog
put forth this definition of personality?
(1)  Norman L. Munn (2) G. W. Allport

(4) ). B. Watson

3) G A. Kimble
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N e TR
I the secretion of adrenalin from adrenalin glands decreases then which of the following syrmptornds

18 observed?
! (1)  Manliness is observed (2) State of good health is felt
(1 A person becomes weak (4) A person looks stable n nature,

"(fl.

Which .«Tl the following theory is not included in the modern group theories of learning?
(1) Theory of mastery leaming (2) Field theory of learning
(3)  Social learning theory (4) Information processing model.

0.

A learner picks and chooses from many environmental options, basing their decisions on their own’
”“‘.'H"I'-“ and past experiences. They do this through observational learning by incorporating and
imitating the behavior of those around us. This theory was put forth by which of the following

t puychologists?
(1)  Bandura (2) Bloom (3) Bruner

074,

(4) Ausubel

Which of the following competencies are important for creating studious attitude through effective
teaching?
A)  Critical thinking competency
B)  Competency of independent thinking
I €)  Competency of wisdom and sense.
D) Competency of problem solving.
(1) A, Band C only (2) A, Band D only
(3) B, CandD only (4) A,B,CandD all
080,  Which of the following model of teaching has the objective of development of cognitive angle
and development of inductive deductive competency of thinking process?
(1)  Information processing model (2) Personal development model
(3)  Social interaction model (4) Behaviour modification model

Lo

081, Which of the following characteristic of learning process is not correct?
(1)  Learning occurs through proper activity.
(2)  Every animal learns in order to live
(3) All animals learn in similar manner.
(4)  Learning process is slow process.

‘Learning is slow behavioural changes that occur in an individual with the help of experiences.’

082.
Which of the following psychologists put forth the definition of learning?
(1)  Frandson (2) Murphy (3) Woodworth (4) Guilford

Which of the following things should be done by a teacher in order to avoid plateau stage of

083.
learning?
A)  Create interest in the students

B)  Decrease the intensity of motivators
See that the students do not acquire wrong habits during skill achievement

C)
D)  Concentrate either on speed or accuracy.
(2) Aand C only

(1) AandB only
(3) Aand D only (4) B and C only
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